Math 180 Practice Test 3
1.    Follow steps i-vii for the given functions. 
       a. 
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      i. find the first derivative                                                     v. find second derivative

     ii. find the critical numbers for 
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                                vi. find critical numbers for 
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    iii. make a sign diagram, find where increasing,                  vii. make sign diagram, find where concave up, down;

         decreasing; local max and min points                                    inflection points

    iv. find intercepts; plot intercepts, max’s, min’s, inflection points, other critical number points, and then 
         graph using information about concavity, intervals where increasing and decreasing

2.    Find the relative extrema for
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 by using both the first and second derivatives.
3.    Find the absolute extreme values for the function on the given interval.                                                     
       a. 
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4.    Show that the following functions satisfy the hypotheses of the Mean Value Theorem. Then find all numbers c 

       that satisfy the conclusion of the theorem.
       a. 
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5.    Find the limit.

       a. 
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6.    page 353 57,58,59,60
7.    Use Newton’s Method to approximate the solutions correct to four decimal places.

       a. 
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8.    Find the antiderivative for each given function.

       a. 
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9.    Find the linear approximation for ln(x+3) around a = -2. Use what you find to approximate ln(1.03). How far 

       off is your approximation? Find the interval of x-values that make the approximation correct to within 0.01.
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